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L=z Y—h t=10cm, 18-8-40 n’ 29 | 2.9 2.6
ar sy —k 24-12-25(20) m’ 23
E7S 7] SD345 D13 t 1. 19
SD345 D16~D25 t 0.61
BB RIS n’ 90
. FAHSATHAL L S5 fHhm” 4
J. B Hm? 20
HEEET. (JIIE) EOVA T
L=z Y—Fh t=10cm, 18-8-40 n’ 17| 1.7 2.1
ar sy —k 24-12-25(20) m’ 21
E7S 7] SD345 D13 t 0.89
SD345 D16~D25 t 0.16
B P BRHEE) n’ 70
. FHRTATHRLE S fHhm” 20




2 B ¥ HFH £ No.2)
Xy | L. %
(L) (L2) (ﬁi//\/l/%u) (ﬂ/AE/\/IELIJ) (%/l%//\/jf) HAL B fii
T EakiE L
SRS AR T
7" VERAMARR B2000 X 1.2000 t=300 T-25 | i 1
VAVLY o
770 hAR—L H500mm #H 1
P B T
ST ¥ TR B (55h@M) )13 =X 11 m2
a7 )—r 18-8-40 m3 5
P — A m2 13
St RC-40 + t=200 m2 12
7— KL
AT L AR — R |B1600 * H1000 51 1
E S = 1
A7 Y= 2V 1
ATVVAY = MIEE ! 1
gL -
4T
A T
el R m’ 130
AT
HEAR (BE5) B+ W<2.5 m 10
I 2.5=W<4.0 m’ 60
I 4. 0=W m 360
HiAFr (=2") m* 230 | (T
) S {fE— L=0.3km m’ 230 | CETHiR)
T HD S +H5—1=1. 8km m 110 | (kT5E)
LR T
LY (U (b m* 60
IEERETE (R 15) m* 140
AT
(=S
IRHE Y R m’ 60
WEL C (Im=Wmax<4m) m 40
FEIH IR m2 20




¥ &2 ¥ # F£ No.3)

Eo N .
w | w2 ?%N/V%J) (ﬂ& EN/VEJ) (%/E“\/j?) S i =
LR T [ERB5#]
a/))=h7"my) T
VARPYE- 18-8-40  [B500-H400] [ m 24 | 1.80 m3/10m
7 my )k P2 2 350 m2 263 |IMiAzy 0. 22m3/m2
Eh:iki JEE'E t=10mm m2 9
Kitgavy)—h 18-8-25(20) m3 1 A+ B
AN ERTEVZAR 18-8-40 m3 2 | (F)  16m2
A T
Fa m2 120
LR L (RS EK K]
2/))=p7"y) T
7"y ) He itk 18-8-40  [B500-H400] [ m 29 | 1.70 m3/10m
7 ny )k 2 2 350 m2 37 |IRiAa 0. 22m3/m2
TAREA RC-40 t=20cm m3 8
H HiAR JEHE  t=10mm m2 3
Ktayy)—h 18-8-25(20) m3 1
AT R T
GIEEVZER t=35cm m2 2
aryJ—h 18-8-40 m3 1
HIAA RC-40 t=20cm m3 0.4
Feagay -+ GER)  |t=20cm m2 14
aryJ—h 18-8-40 m3 3
SEHERE A RC-40 + t=200 m2 14
H HiAx JEHE t=10mm m2 4
Weigay))-h CR)  |t=20cm m2 12
aryJ—h 18-8-40 m3 2
SERERE A RC-40 + t=200 m2 12
H HiAx JEEHMHEE  t=10mm m2 4
J1 A~y t=30cm, FE475 15cm m’ 64 |WHBsIEMA
1EEE A (Ri) B=20cm + H=60cm m 26
aryJ—h 18-8-40 m3 3
T Nt m2 31
Eh:ik TEHWAEE t=10mm m2 0.3
1EBEB (/hE) B=20cm * H=60cm m 2
aryJ—h 18-8-40 m3 0.2
Bl e sNEY m2 2




¥ B2 ¥ # F£ (No.4)

Xy | L i Y
wy | w2 ($ %N/V%J) (ﬂ& EN/VEJ) (%/E“\/j?) S i =
fHRER T [KET]
E¥E+L T N+ 24
PR D b, HEYE m’ 250
HERL (D) W (max) <1m m’ 110
FmEE +wb m’ 60
LT FIKEE L
EENHELE KB m 4
a7 y—h 24-8-40 m3
A P — BT m2 36
SR RC-40, =200 m2 9
£ ] SD345 D13 t 0.09
H HiAk JEEE  t=10mm m2 1
A AH t=20cm  EIZEAT15~20cm | m2 4 | Fetay
Rl T
15 URDKEE m 28
a7 y—h 18-8-25(20) m3 8
A P — BT m2 75
EINi] SD345 D13 t 0.43
WLayv o ck =18N/mm2 t=100 m3 2
A b2 HLarzy—Fk m2 6
e RC-40, =200 m2 23
H Hukt JEHMHEE  t=10mm m2 1
275 UK m 60
a7 J—Fh 18-8-25(20) m3 12
A P — BT m2 129
TR RC-40, t=150 m2 42
H Hkt TEHWAEE t=10mm m2 1
7" Ry A MU (K18 1A] m 12
7 VAN [B300 X H300 X 1.4000 1 3
SR RC-40, t=150 m2 6
A5 B it % L
FIk T
7" VR A ME B 200/300 X 600 X 2000 m 80
BEVIV m3 0.6
SR RC-40, t=100 m2 32 |80mx0. 4




2 B #% & R NNo.b)
Koy | T P
L) (L2) (ﬁi//\“zlx%;’)u) (ﬂ/A E/\“/liu) f%f\“/lx%) S fik =
HIAT
) CPEREA 18-8-40 m3 10 | E¥HH = 1.76
) HEREB 18-8-40 m3 1| ¥HH = 1.34
B (] |RC-40, £=200 m2 40
K BEARIBE SR 15 10 X 1
a7 Y—F 18-8-40 m3 0.4
LT — JB A m2
WATE t=20cm E|ZEA15~20cm | m2 2
fET
&Y E L L
AsTElHE R t=<15cm m2 40
AR L m3 2
vy ) - MEE HHEf75; m’ 45
20— B m’ 5
TR AL T
AsiR TR AL PR m’ 2 |L=15. 3km
Comt JEMRALIR IR m’ 45 |L=15. 3km
Comk JTEHALEH G m’ 5 [L=15. 3km
G an
THEHERK T
A % A RC-40, =100 m2 170
W E - s [t=220m 1524 X3048 m2 9 it/ : 1500
T8 - T
KAt 5 mE L] 1% 4
KE+D 9 ik S 4
BOK B T
WEIRPE AR R fie2s |BEIR ¢ 500mm m 12
eI m 29
PR3 m3 70
WEL C (Im=Wmax<4m) m3 70
TEZET-1 34l L
T B m2 230
AR T
AR i B B AH 20




+ T H# h K RUIBAE RN - BB X RE - Fnde It L9 (6) (BAZ ; m3)

IR BALER | — X | B3R | K O AR N—R i [ 5 LA
B AR | & | N L +& C +& 70— B AR +& +& %+ Fe 1]
HEEL QA +i 130 130 0.9 117 }-———-—= & I 430
( 117 ) 130 | L
ARG (BBF) +Hp 400 230 0.9 207 7= 0 s ( 207 ) 230 [L=0.3kn
170 0.9| 153 b <0 3km ( 110 ) 110  |L=L. 8kn
R GEF) b 60 60 0.9 54
/ HEREL 430 280+40+110
RIS OKEE) b 250 250 0.9] 225 (haF9) ( 153 ) 170 |L=0.3km
( 127 ) 141 | L
G&ER) ( 40 ) 44 |EpRE L
OKE&) ( 110 ) 122 |iEREL
[ HeH ]
LT Twb-E 110 Lol 110 f-; gkn

950 866 860 948




)1 T £EEF

L1 4 GHERI) " 2V W &
PEH| TREREE LY (1)
T 32.0 + 93.8 125.8 m3
%+
B<2.5 12.0 m3
2.5=B<4.0 63.0 m3
4.0=B 362.0 m3
EmER (G ES JI| 3
+w 61.2 + 0.0 61.2 m2
FEmER %) 112.1 + 30.0 142.1 m2
(FHITE)
£=300 312. 80 m2
A6= 58. 5m2
A7= 254. 3m2
V= 312.80nt X 0. 30 93.8 m3




KEtFE2
A=731. 9m2

8- 3% 52.90

B® srsso on
KBARE




4T + y 3 2 (=1 =
A %+ %+ &t
) EE 'EE +w W<2.5m 2. 5m=W < 4. Om 4. Om=W fii
WrmfE S ¥ % & | Wk F % &K = | WmE S B B & | e B % &

No 14 — 0.0 — — 0.0 — — 1.3 — — 4.9 — —
No 15 20. 000 0.9 0. 45 9.0 0.1 0.05 1.0 1.0 1. 15 23.0 3.1 4. 00 80.0
No 16 20. 000 0.0 0. 45 9.0 0.3 0. 20 4.0 1.1 1. 05 21.0 3.7 3. 40 68. 0
No 17 20. 000 0.7 0. 35 7.0 0.0 0.15 3.0 0.0 0.55 11.0 4.9 4. 30 86.0
No 18 20. 000 0.0 0.35 7.0 0.4 0. 20 4.0 0.8 0. 40 8.0 7.9 6. 40 128.0
- m3 m3 m3 m3
80. 000 32.0 12.0 63.0 362. 0




1+ + B 2t (=1 E 2
BT BRI TR
Wooos | EIRE R i
Wrimfs ¥ 0 = | Wk S B K & | WmE F B i Wrimfg | B B &
WIIE:3!
No 14 — 0.0 — — 2.0 — —
No 15 20. 000 0.8 0. 40 8.0 1.2 1. 60 32.0
No 15 + 13.300 13. 300 0.8  0.80 10. 6 1.2 1. 20 16.0
No 15 + 13.300 ° — 1.8 — — 1.4 — —
No 16 6. 700 1.8  1.80 12.1 1.4 1.40 9.4 Sl
No 16 + 5.300 5. 300 1.8 1. 80 9.5 1.4 1.40 7.4
5%5-%il
No 16 + 8.300 — 1.8 — — 1.4 — —
No 17 11. 700 1.7 1.75 20.5 1.4 1. 40 16. 4 KIERE
No 17 + 0.300 ° 0. 300 1.7 1.70 0.5 1.4 1.40 0. 4
No 17 + 0.300 — 0.0 — — 1.6 — —
No 18 19. 700 0.0 0. 00 0.0 1.5 1.55 30.5
- 2 m2 m2
77. 000 61.2 112.1




1+ + B 2t (=1 E 2

‘ - L L

Al EE i )58 & AR e

Wrimife V- ¥y % B | WrmikE ¥y % B | Wil ¥ K Wrikifd | ¥y B B

UNE)
No 14 — 0.0 — — 0.6 — —
No 15 20. 000 0.0 0. 00 0.0 0.6 0. 60 12.0
No 16 20. 000 0.0 0. 00 0.0 0.6 0.60 12.0
No 17 20. 000 0.0 0. 00 0.0 0.0 0. 30 6.0
No 18 20. 000 0.0 0. 00 0.0 0.0 0. 00 0.0

- m2 m2

80. 000 0.0 30.0




AT

L4 (AR 1 =V o &
1E1kRE 80.00 m
No. 14~No. 18 L= 80. 00
7L ¥ A NHREE 10m4 7= V) 54 X 80m—=10 40.0 &
200/300%600%2000
EN Y Y 10m247= 9 0. 080 X 80m—=10 0.6 m3
1:3
MRS 10m¥% 7= v 4. 00 X 80m—=10 32.0 m2
RC-40, t=100
R 121.6 m2
JI1F 4 )12 AR E LD = 121.6




T TH B 7t =1 =
i
R jres
R T K % B | WER T 8 % R | e T 9 % | e T o9 % &

QlIE:3
No 14 — 2.0 — —
No 15 20. 000 1.9 1. 95 39.0
No 15 + 13.300 13. 300 1.9 1.90 25.3
No 17 + 0.300 — 1.6 — —
No 18 19. 720 1.5 1.55 30.6
QIES!
No 14 — 0.6 — —
No 15 20. 000 0.6 0. 60 12.0
No 16 20. 000 0.6 0. 60 12.0
No 16 + 4.500 4. 500 0.6 0. 60 2.7

& % "

97.520 121.6




BB

EftEE =2 B OEBE E NO.
200
o
3
nb
o
E# 4 (RC-40)
50 300 50
400
10.0m 1)
2R H = = B ff # =
PAVES P 1
200/300%600%x2000 |10.0=-2.0 = 5000 1@ 5.0
HEILZIL
1:3 0.400 x 0.020 X 10.0 = 0080 m3 0.080
AR
RC-40,t=100 0.40x10.0 = 4000 m2 4.00




fIHRER T (BT ER

L~14 GRERI) H =X W &
RE Y TRER R E
+w 103.7 + 143.5 247.2 m3
PEPNEE I LR IK
HWEL
TRER R E
I R BRI mAS 69.2 + 36.1 105.3 m3
PEPNEE I LR IK
FLH e AR R E
+Hb 64. 3 n 0.0 64.3 m3

LRI AN




F#GER T LT + B H B &
PR D HMEL HEREL FemHE e
U S b BRHBE IR bkl | AR L o %
Wrimdg | ¥ B = | Wk S B K & | Wl F B K = | a8 K &
(RMAD
No 13 + 9.200 — 0.8 — — 0.0 — — 0.5 — — 0.7 — —
No 14 10. 780 0.8 0. 80 8.6 0.0 0. 00 0.0 0.5 0.50 5.4 0.7 0.70 7.5
No 15 20. 000 1.0 0.90 18.0 0.0 0.00 0.0 0.6 0.55 11.0 0.7 0.70 14.0
No 16 20. 000 1.0 1. 00 20.0 0.0 0. 00 0.0 0.6 0. 60 12.0 0.7 0.70 14.0
No 16 + 5.600 5. 630 1.0 1. 00 5.6 0.0 0. 00 0.0 0.6 0. 60 3.4 0.7 0.70 3. 9|No. 163 H
/NEE 56. 410 52.2 0.0 31.8 39. 4
No 16 + 8.000 — 1.8 — — 0.0 — — 1.3 — — 0.8 — — No. 173
No 17 11. 850 1.8 1. 80 21.3 0.0 0. 00 0.0 1.3 1. 30 15. 4 0.8 0.80 9.5
No 17 + 16.690 16. 410 1.8 1. 80 29.5 0.0 0. 00 0.0 1.3 1. 30 21.3 0.8 0.80 13. 1|No. 173
No 17 + 16.690 ° — 0.2 — — 0.0 — — 0.2 — — 0.7 — — |No. 189t H
No 18 3. 250 0.2 0.20 0.7 0.0 0. 00 0.0 0.2 0.20 0.7 0.7 0.70 2.3
/NG 31.510 51.5 0.0 37. 4 24.9
o s m m3 m3 m3 m2
87.920 103. 7 0.0 69. 2 64.3




fHERs T EE

L~ 14 (R A 2V B &=
15 UK B
No. 16+ 8.00~No. 17+ 16. 69 L= 28. 26
#t 28. 26m
EfEfE= 14.41md
KIEEIE R = 28. 26m
SEHJH = 14. 41nd +28. 26m=0. 51m
10m4 7= v av)) - = 7. 509m3+28. 26m X 10. Om=2. 657m3
(L.0XH7=D])
a7 Y—k
o ck=18N/mm2 BEFEELY 7.509 m3
T
— R HEFEELY 74.68 m2
i
SD345, D13 BEHEELY 429. 24kg 1000 0.43 t
HEfg=m 7 ) — ¢
o ck=18N/mm2 0. 800X 0. 100 X 28. 26m 2.261 m3
EIN .Y
%L 0. 10X 2X 28. 26m 5.65 m2
SRR
RC-40, t=200 0. 80X 28. 26m 22.61 m2
H s
t=10mm 7.509%1/10 0.75 m2
25 UK % No. 13+ 4.98~No. 16+ 5. 60 L= 56. 41
No. 17+ 16. 69~No. 18 L= 3.25
#t 59. 66m
IEmEfE= 23. 19w
KBEIER: = 59. 66m
SEHJH = 23. 19nf +59. 66m=0. 39m
10m24 7= v 2y )—p = 12. 351m3-+59. 66m X 10. 0m=2. 07m3
(1. 0XH7=D])
a7 Y—k
o ck=18N/mm2 BEHEELY 12.351 m3
T
— R BEHEELY 128.73 m2
SRR
RC-40, t=150 0. 70X 59. 66m 41.76 m2
H s
t=10mm 12.351%X1/10 1.24 m2




15U KER

a7 Y—h T e 73 PRI HER
wos 5 P P o ck=18N/nn2 — TR S D345, D13 H
(m) TATTIN I 3 G S T < NR A YA I G~ T TIN5 G o T T A B G ¢
(RRAED
No. 16 + 8.000] — 0. 286 — — 2.91 — — 16. 17 — — 0.55 — — H=0. 553
No. 17 11.850 | 0.275 | 0.2805 3.324 2. 77 2. 840 33.65 | 15.77 | 15.970 189. 24 0.52 0.535 6.34 [H=0.517
No. 17 + 16.690| 16.410 [ 0.235 [ 0.2550 4. 185 2.23 2. 500 41.03 | 13.48 | 14.625 240. 00 0. 47 0. 492 8.07 [H=0.467
/NEF[ 28. 260 7. 509 74. 68 429. 24 14. 41
A = m m3 m2 kg m2
" ’ 28. 260 7. 509 74. 63 429. 24 14. 41




25 UEI K&

av s Y—k Tl SEHHE H
TS ST PR o ck=18N/nn2 — TR H
(m) Wrom | B K & | W oE | E B K& Wr || F B kR =
(RRAED
No. 13 + 9.480’ — 0. 180 — — 1.80 — — 0.30 — — H=0. 300
No. 14 10.780 | 0.190 | 0.1850 1.994 1.93 1. 865 20. 10 0.33 0.316 3.41 [H=0.332
No. 15 20.000 [ 0.208 [ 0.1990 3. 980 2. 17 2. 050 41. 00 0. 39 0. 362 7.24 | H=0.392
No. 16 20.000 [ 0.226 [ 0.2170 4. 340 2.41 2. 290 45. 80 0. 45 0. 422 8.44 |H=0.452
No. 16 + 5.600 | 5.630 [ 0.231 [ 0.2285 1. 286 2.48 2. 445 13. 77 0. 47 0. 461 2.60 [H=0.469
No. 17 + 16.690| — 0. 235 — — 2.53 — — 0.47 — — H=0. 467
No. 18 3. 250 0.227 | 0.2310 0. 751 2.43 2. 480 8. 06 0.46 0. 462 1.50 | H=0. 457
A =2 m m3 m2 m2
= 3]
59. 66 12. 351 128. 73 23.19




1L.om4729
avyy—h A 7810}
H o ck=18N/mm2| — % e SD345, D13
TR ROA%E | & (ke)
m m3 m2
EHUAE | EEB5R h
0.753 0.553 0. 286 2.91 1.85 7 16.17
0.717 0. 517 0. 275 2.77 1.77 7 15. 77
0. 500 0. 467 0.235 2.23 1.51 6 13.48
a7 J— 1k ogck=18N/mm2
V= H X0. 150 X2+0. 150X 0. 600=0. 30 » H +0. 090
V=" (H+h) X0.15040. 150X0. 600=0. 15 + H+0. 15 + h +0. 090
R — R
A= (H+0.15) X2+ H X2=4 - H+0. 30
A= (H+0.15) + (h +0.15) + H+ h=2 + (H+h) +0.30
600
PRAH SD345, D13 150, 300 150 %
W= (1.0m/0.2XL+NX1.0m) X0. 995 |
L= R R S—
N=Hc /7 i AL N = g
u L x
g
FREFE RC-40, t=20cnm 2 ————| 8 .
A= 0. 80 | [ gl
BEH 7 60 || 240 | 240 _&
100 600 100

800

TUBEN  JECRRN
ECHAL E2BA1A1

4 3
4 3
3 3



25 URIK I

1.0m¥47= v
ayz7Y—h il pe
H o ck=18N/mn2| — AR
m m3 m2
0. 300 0. 180 1.80
0.344 0.193 1.98
0. 406 0.212 2.22
0. 420 0.216 2.28
0. 441 0.222 2.36
0. 694 0. 298 3.38
0. 660 0. 288 3.24
0. 600 0. 270 3.00
0.588 0. 266 2.95
0. 450 0.225 2. 40
0. 450 0.225 2. 40
0. 300 0. 180 1.80
0.332 0. 190 1.93
0. 392 0. 208 2.17
0. 452 0. 226 2.41
0. 469 0. 231 2.48
i h
0. 500 0. 467 0.235 2.53
0. 457 0.227 2.43
0. 397 0. 209 2.19
0.337 0. 191 1.95
0.312 0.184 1.85
a7 Y—F ock=18N/mm2
V= H X0. 150 X240. 150X 0. 600=0. 30 + H +0. 090
V= (H+ h) X0.150+0. 150 X0. 600=0. 15 - F1+0. 15 + h -+0. 090 "
S TN 150,300 150
b AR ] [
A= (H+0.15) X4=4 - H+0. 60 gl =
A= {(H+0.15)+ (h +0.15)} X2=2 + (H+h) +0.60 e
g
JEREFS  RC-40, t=15cm B )OO
A=0.70 BEEM 75 600 50
RC-40  ——f =

700




HfEFATX]
MEHEE



B ¥ + T % 3 %
Gl

LV 3 (R L4 G L~UL5 (BLR) BT BEX 5y A | W=
fEELT |
R m3 |47 /PEEE (H=5m) wWE+ 401. 8 401. 8
m2 (R EEIE 69. 4 69. 4
HEREL m3 |HEE UFERIC +wp 283. 4 283. 4




(==

L~UL4 (R A =V ¥ o=
PRIV =7 /4 ES H=5m W L

V = +TREELY = 401.8 m3| 401.8 m3

FEHEEIE

M=FELBHLa U — "N EELD = 24.2

A2 = )I|RBEEET WLar 7 — MmE/ELYD = 28.6

A3 = JIIEBREET B Lar 7V — MmfEL Y = 16.6

A3 = 69.4 m2| 69.4 m2

WAL W LfERIC

V = +TEEELY = 283.4 m3| 283.4 m3




+ T O B E
s T — U — <
T TR (m2) - IMTE (m2)  NCRR (m3) | GO R (m2) XM i (m2) 7R (n3)

i 0.0 — — 0.0 — —

1 — 1 1.48 15.4 7.70 11.4 14. 2 7.10 10.5
=1 0.00 23.4 19. 40 0.0 22.2 18. 20 0.0
2 — 2 0.50 23.4 23.40 11.7 22.2 22.20 11.1
2 =2 0.00 23.4 23.40 0.0 4.6 13. 40 0.0
3 —3 0. 40 23.4 23.40 9.4 4.6 4. 60 1.8
3y -3 0.00 23.4 23.40 0.0 8.6 6. 60 0.0
4 — 4 0. 45 15.4 19. 40 8.7 9.2 8.90 4.0
5 —5 0. 65 15.4 15.40 10.0 9.2 9. 20 6.0
5 -5 0.00 15.4 15.40 0.0 11.5 10. 35 0.0
6 — 6 0.50 15.4 15.40 7.7 11.5 11.50 5.8
6 —6 0.00 12.7 14. 05 0.0 8.8 10. 15 0.0
T — 7 1. 14 12.7 12.70 14.5 8.8 8. 80 10.0
8 —8 0.53 30.8 21.75 11.5 22.0 15. 40 8.2
9 —9 3.07 13.2 22.00 67.5 8.9 15. 45 47. 4
10 — 10 1.76 13.9 13.55 23.8 9.7 9. 30 16. 4
100 — 10 0.00 13.9 13.90 0.0 8.1 8.90 0.0
11 — 11 0.50 20.3 17. 10 8.6 9.5 8. 80 4.4
117 — 11U 0.00 20.3 20. 30 0.0 7.4 8. 45 0.0
12 — 12 0. 40 20.3 20. 30 8.1 7.4 7. 40 3.0
122 — 12 0.00 20.3 20. 30 0.0 9.5 8. 45 0.0
13 — 13 0.50 13.9 17. 10 8.6 8.1 8. 80 4.4
13 — 13 0.00 10.9 12. 40 0.0 8.6 8. 356 0.0
14 — 14 2.30 10.9 10. 90 25.1 8.6 8. 60 19.8
14 — 14 0.00 10.9 10. 90 0.0 5.5 7.05 0.0
15 — 15 0. 40 10.9 10. 90 4.4 5.5 5.50 2.2
15 — 1% 0.00 13.2 12. 05 0.0 9.8 7. 65 0.0
16 — 16 1. 10 13.2 13. 20 14.5 9.8 9. 80 10. 8
16" — 16’ 0.00 13.2 13. 20 0.0 8.4 9.10 0.0
17 — 17 0.50 13.2 13. 20 6.6 8.4 8. 40 4.2
17 — 17 0.00 13.2 13. 20 0.0 6.0 7.20 0.0
18 — 18 0. 40 19.6 16. 40 6.6 7.8 6. 90 2.8
18 — 18 0.00 19.6 19. 60 0.0 10. 2 9. 00 0.0
19 — 19 0.50 19.6 19. 60 9.8 10. 2 10. 20 5.1
19 — 19 0.00 19.6 19. 60 0.0 16. 6 13. 40 0.0
20 — 20 0.50 19.6 19. 60 9.8 16. 6 16. 60 8.3
200 — 20’ 0.00 13.2 16. 40 0.0 10. 2 13. 40 0.0
21 — 21 1. 80 13.2 13. 20 23.8 10. 2 10. 20 18. 4
217 — 21 0.00 17.4 15. 30 0.0 14. 3 12. 25 0.0
22 — 22 0.50 18.6 18. 00 9.0 14. 4 14. 35 7.2
220 — 22 0.00 18.6 18. 60 0.0 11.6 13.00 0.0
23 — 23 0. 65 18.6 18. 60 12.1 11.6 11.60 7.5
24 — 24 0. 45 27.4 23.00 10. 4 13.7 12. 65 5.7
24 — 24’ 0.00 27.4 27.40 0.0 6.4 10. 05 0.0




TE¥ELT

+ T O B E
5 BigE(m) |- st _ Rl
B (m2) TR (m2) SO (m3) | B (m2) T (m2) S ()

25 — 25 0. 40 27. 4 27. 40 11.0 6.4 6. 40 2.6
25" — 25’ 0. 00 27. 4 27. 40 0.0 26.9 16. 65 0.0
26 — 26 0. 50 27. 4 27. 40 13.7 26.9 26. 90 13.5
26" — 26’ 0. 00 18.6 23.00 0.0 18.1 22.50 0.0
27 — 27 1. 20 18.6 18. 60 22.3 18.1 18. 10 21.7
pe gt 2.28 0.0 9. 30 21.2 0.0 9. 05 20.6

& Et 25. 36 — — 401. 8 — — 283. 4




Bl TR B
Lous D | Lo | Lo G | g e Hé',;;i ozt | o
ER
GWRBHOR. |SP-11, L=3.00m| m [fHAK— | B ANIE=50|iE ke 1.2 1.2
0. 00m
T ok 2 >
kg BE 371 371
SP-ITy  L=3.00m| m [fTiAE=|[HANE=50|4LE 3.6 3.6
3. 00m
T ok 6 5
kg BH& 1112 1112
WL S MM |SP-11, 1=3.00m| m |[FPAE= | ME-50\iEE T4 T4
0. 00m
T ok 2 >




JIZR M BE

L4 (1)

i
o

%

NPT

SP-11,

IR

Mk

3
'z
[

il

=
|

SP-11,

USRS

Mk

T3
'Z
I

il

=
|

0. 600

1. 200

3. 000

0.00

1. 800

3. 600

3. 000

L=3. 00m

+ 0.600

/0.60

X  61.8

L=3. 00m

+ 1.800

/0.60

X 61.8

kg/m X

kg/m X

2.0

6.0

1. 20

2.0

370.8

0.00

3.60

6.0

1112. 4

3.00

%

kg

%

kg

1.2

371

3.6

1112

%

kg

%

kg




JI 2R M B

L4 (51D

%

A& D iR

SP-11,

USRS

Mk

L=3. 00m

0.700 + 0.700

1.400  0.70

1. 40

2.0

0.00

8

1.4

8




b
(] ) RS LT B & X 4 I s N e e
HIET 271 —F o ck=24 N/mm2 m3  |JEhR 13.8 3.8 0.8 2.4 20. 8
TR EE 11.9 1.5 1.8 1.7 16.9
TERR 6.3 6.3
aF 32.0 5.3 2.6 4.1 44.0
T m2 | Ehi — R B - TERRHESD 9.4 6.6 2.4 6.0 24. 4
TR EE — R A - MY 56. 0 9.1 10. 6 10. 1 85. 8
TERR — IR el - B 13.1 13.1
aF 78.5 15. 7 13.0 16. 1 123.3
B SD345 D13 Kg 1019 270 160 221 1670
D16~D25 743 0 35 778
D29~D32 0 0 0
HLar s Y — i o ck=18  N/mm2 t=100mm | m2 18. 8 0.8 2.4 2.2 24. 2
#L=r s J— b m3 2.1 0.1 0.2 0.2 2.6
Loy Y — KR m2 1.5 0.1 0.6 0.6 2.8
S5 Hm2 |F 2 [H=30m 10 2 2 14
Hm2 |HAZ 2 [H=30m 3 3
KPR 7em3 |34 7 AR {1 < 4m W= 40kN/m2 10 10
H Hits Bkt  JEEFE t=20mm m2 4,3 4,3
17K AR 17K AR B=200 m 10.5 10.5




[BRRZNEY

FiA - A5 2 N %
(1) =27 U—F o ck= 24 N/mm2
MES/8 5k
JEChR
Vi= 0.700 X 3.000 X 1.400 = 2.94
THIEE

Vo= ( 1/2 X 0.200 X 0.200 X 2
+ 1.000 X 0.700 X 2 )X 1.400

TERR

V3= 0.400 X 3.000 X 1.400 =
B RTR YR
JEChR

V4= 0.400 X 2.400 X 3.800 =
fHEE

Vo= ( 1/2 X 0.200 X 0.200 X 2
+ 1.000 X 0.400 X 2 )X 3.800

TERR
V6= 0.400 X 2.400 X 3.800 =

JE ST
JEChR
Vi= 0.400 X 2.600 X 1.400 =

R
V8= ( 1/2 X 0.200 X 0.200 X 2
+ 1.000 X 0.500 X2 )X 0.900

TERR
V9= 0.400 X 2.600 X 0.900 =

R BERR 1R
VI0= 1.000 X 0.400 X 3.000 =

R BERS ()1 SEA)
VII= 0.700 X 0.400 X 2.600 =

F 0

<
—
[\\]
I
| —~

.02

. 68

.65

.19

.69

. 46

.94

.94

.20

.73

.01




B (A ED

E IR T B N 0 =
—
JEChR
VI3= 0.400 X 1.100 X 3.000 = 1.32
X B
Vid= ( 2.700 X 1.100
+ 1.000 X 0.500 )
X 0.400 X 2 = 2.78

B AT (JIFRAD
V5= 1/2 X ( 1.400 + 0.400 )
X 1.000 X 3.000 = 2.70

B AT (J1EAA])
V6= 1/2 X ( 0.900 + 0.400 )
X 1.000 X 2.600 = 1.69

it 31.90 m3

O
h=(l1l

(27 J— FWER)

JEAR
XVb = V1 + V4 + V7 + VI3
+ V15 + V16 = 13.76 m3| 13.8 m3
i EE
XVs = V2 + V5 + V8 + V10 + V11
+ V12 + V14 = 11.87 m3| 11.9 m3
THAR

XVt = V3 + V6 + V9 = 6.27 m3 6.3 m3




[BRRLNEY

FERI - AR B = 0 =
(2) B — R BR - EATAEEY)
JEChR A
Al= 0.400 X ( 7.700 — 1.400
— 1.000 — 1.400 ) X 2 = 3.12
{RIEE S, 1]
A2= 1.000 X ( 6.100 — 0.400
— 0.400 — 0.400 ) X 2 = 9.80
TEhR A+
A3= { 0.400 X ( 1.400 — 0.400 )
+ 0.400 X ( 3.800 — 0.400 )
+ 0.400 X ( 0.900 — 0.400 ) }
X 2 = 3.92
JECRRU | 2% 41 i 1
Ad= 0.700 X 3.000 — 0.700
X 2.400 = 0.42
ARV ) 1| 22 4120 i T
A5= 1.000 X 3.000 — 1.000
X 2.400 = 0.60
TERR 1 22 40 i 1
A6= 0.400 X 3.000 — 0.400
X 2.400 = 0.24
JECRRU 1 B 4 i s 1
A7T= 0.400 X 2.600 — 0.400
X 2.400 = 0.08
ARIBEE ) 1| B4 Vs 1
A8= 1.000 X 2.600 — 1.000
X 2.400 = 0.20
TERRO | B4 i 1
A9=  0.400 X 2.600 — 0.400
X 2.400 = 0.08
{RIEE PN Tl
A10= ( 1.000 — 0.200 X 1)
X 6.100 X 2 = 9.76
TERRN
All= ( 1.600 — 0.200 X 2 )X 6.100
= 7.32
N~ T
Al2= 0.200 X 1.414 (=L)X 6.100

X 2 =

.45




[BRRLNEY

FiR] - KRB B = 0 =
RSB ia]
AI3= 0.700 X 3.000 = 2.10
ARIVBEE ) 1| 26 0k T
Al4= 0.300 X 1.000 X 2
+1/2 X 0.200 X 0.200 X 2 = 0.64
TERR) 1 Z 0 1
Al5= 0.400 X 2.200 = (.88
JECHR) || B 1
Al6= ( 0.400 -+ 1.000 ) X 2.600 = 3.64
RBE N ZE S (N> F)
A17= 1/2 X 0.200 X 0.200 X 2 = 0.04
TERR) || S 1
AI8= 0.400 X 1.600 = 0.64
JI3% - B8 B
A19= 1.000 X 3.000 X 2
— 1.000 X 0.400 X 2
+ 0.500 X 0.400 X 2 = 5.60
JIE SR04
A20= 0.700 X 2.600 X 2
— 0.700 X 0.500 X2 = 2.94
40
A21= ( 0.500 X34+ 0.100 X 2)
X 2.100 X 2 = 7.14
A7— | ElER R
A22= ( 1.100 X 2.700
+ 1.000 X 0.500 ) X 4 = 13.88
A23= 2.400 X 0.400 X 2 = 1.92
&5t 78.41 m2
(RIFENER)
JEChR
SAb = Al + A4 + A7 + Al3 + Al6
= 9.36 m2 9.4 m2
1R BEE
SAs = A2 + A5 + A8 + A0 + Al2
+ Al4 + Al7 + A19 + A20
+ A21 + A22 + A23 = 55.97 m2| 56.0 m2
TERR
DAt = A3 + A6 + A9 + All + Al5
+ A18 = 13.08 m2| 13.1 m2




[BRRLNEY

FERI - AR B = 0 =
(3) £k SD345
BmEER LY
DI3 W= 425.0 +  384.0
+ 210.0 =1019.0 kg
( D13 1019 kg ) 1019 kg
DI6 W= 188.0 +  491.0
+ 64.0 = 743.0 kg
pl9 V= — + — = 0.0 kg
D22 W= + = 0.0 kg
D25 W= + = 0.0 kg
W= 743.0 kg
( D16~D25 743 kg ) 743 kg
D29 = —— 4+ — = 0.0 kg
D32 = —m 4+ — = 0.0 kg
SW= 0.0 kg
( D29~D32 0 kg ) 0 ke
(4) BHL ock= 18 N/mm2 Jig T t= 100 mm
N 1] — §
=7 U M e
A= 3.200 X 1.100 + 2.600
X 3.700 + 2.800 X ( 0.600
+ 0.500 ) + 0.400 X 3.000
+ 0.500 X 2.800 = 18.82 m2| 18.8 m2
a7 J—F
V= 18.82 X 0.100
+ {1/2X ( 0.100 4+ 0.400 )
X 0.300 + 1/2 X 0.050
X 0.100 } X 2.600 = 2.08 m3 2.1 m3
A
A= { ( 1.100 4+ 3.700 — 1.200
X 24+ 3.200 + 2.800 }
X 0.100 +1/2 X ( 0.100
+ 0.400 ) X 0.300 X 2
+1/2X 0.050 X 0.100 X2 = 1.48 m2 1.5 m2




[BRRLNEY

FepI] - HERI G-V B &=
(5) B Pkl 2 3 H=30m

Al=  2.700 X 0.600 = 1.6

A2=  3.100 X 1.100 X 2 = 6.8

A3=  2.100 X 0.600 = 1.3

AsF 9.7 Hm2| 10 #Hm2

(6) PR XA TR — PR T H<4m 40KN/m2LL T

V= ( 1.000 X 1.600
—1/2 X 0.200 X 0.200 X 2)

X 6. 100 = 9.5 ZEm3| 10 Z¥m3
(7) B HAs H Hf t=20 mm
A
Al= 1.700 X 3.000
— 1.300 X 2.200 = 2.24
JIEEA

A2= 1.960 X 2.400
— 1.560 X 1.600
— 0.300 X 0.200 X 2 = 2.09

op
Tl

F+ 4.33  m2 4.3 m2

(8) 1kAKHR 17K AR B=200
ME3
Ll= 1.500 X 2+ 2.600 = 5.60
)1 ZEAH]
L2= 1.460 X 2+ 2.000 = 4.92

&5 10.52 m | 10.5 m




B (A ED

E IR B = 0 =
9 — &k ock= 24 N/mm2
N 1] —
FE7YU= M y= (1700 % 2,200
— 1.600 X 1.000 )
X 0.300 = 0.64 m3| 0.6 m3
(10) —& — TR
N 1] — K #u
A7 V=PRI = 1700 + 2,000 X 2)
X 0.300 = 1.71
A2=  1.700 X 2.200
— 1.600 X 1.000 = 2.14
&5t 3.85 m2 3.9 m2
(11) —& INA T AR— R R LT H<4m A0KN/m2LA F
a7 U — bR
V= 1.600 X 1.000 X 0.300 = 0.5 Z%m3 1 Z&m3




JIESL

TRl - AR B = 0 =
1) a7 VU—Fk ock= 24 N/mm2
JEChR
Vi= 0.700 X 1.400 X 1.000 X2 = 1.96
EXRE
V2= 0.400 X 1.900 X 1.000 X2 = 1.52
T AT
V3= 1/2 X ( 1.400 -+ 0.400 )
X 1.000 X 1.000 X 2 = 1.80

&&t 5.28 m3

(27 J— FWER)

JEChR
>Vb = V1 + V3 = 3.76 m3 3.8 m3
R B
Vs = V2 = 1.52 m3 1.5 m3
(2) B — R BRA - EARAEEY)
JEChR
Al= ( 1.000 X 2+ 1.400 )
X 0.700 X 2 = 4.76
EXRE

A2= ( 1.000 + 1.000 )X 1.900 X 2

= 7.60

A3= 0.400 X 1.900 X 2 = 1.52
T AT

AM= 1/2 X ( 1.400 -+ 0.400 )

X 1.000 X 2 = 1.80
&5t 15.68 m2

(RIFENER)
JEChR

SAb = Al + A4 = 6.56 m2 6.6 m2
R

XAs = A2 + A3 = 9.12 m2 9.1 m2




JIES L

FiR] - KRB B = 0 =
(3) £k SD345
BEEE LY
D13 W= 270.0 kg
( D13 270 kg ) 270 kg
D16 W= —— kg
D19 W= —— kg
D22 W= ——— kg
D25 W= —— kg
SW= 0.0 kg
( D16~D25 0 kg ) 0 kg
D29 W= —— kg
D32 W= —— kg
SW= 0.0 kg
( D29~D32 0 kg ) 0 kg
(4) ¥HL ock= 18 N/mm2 Jfi T2 t= 100 mm
N 1] — §
=7 U M e
A= 1.000 X 0.400 X 2 0.80 m2 0.8 m2
ar7 J—h
V= 0.80 X 0.100 0.08 m3 0.1 m3
iRy
A= 0.400 X 0.100 X 2 0.08 m2 0.1 m2




IR L =\ 0o
(1) a7 VU—Fk o ck= 24 N/mm2
JEEhR
Vi= 0.400 X 1.000 X 1.000 X2 = 0.80
X R
V2= ( 4.400 X 1.800
— 2.400 X 1.400 )X 0.400 = 1.82
&5t 2.62 m3
(a7 V—FANR)
JECHR
>XVb = V1 = 0.80 m3 0.8 m3
1R
Vs = V2 = 1.82 m3 1.8 m3
(2) HHE — R ERy - RS
JEEhR
Al= ( 1.000 X2+ 1.000 )
X 0.400 X 2 = 2.40
X R
A2= ( 1.000 X 1.800 X 2
+ 2.400 X 0.400 ) X 2 = 9.12
A3= 0.400 X 1.800 X 2 = 1.44
&5t 12.96 m2
(FUFEPNFR)
JEEhR
SAb = Al = 2.40 m2 2.4 m2
1R ¥
SAs = A2 + A3 = 10.56 m2| 10.6 m2




HEAKEE S

Fnl] - CHEE:N % &

(3) &kih SD345
BREER LY

D13 W= 160.0 kg

( D13 160 kg ) 160 kg
(4) HL ock= 18 N/mm2 Jiti T.J& t=100 mm
N 1] —— .
=7 M e
A= 1.000 X 1.200 X2 = 2,40 w2 2.4 m2
a7 J—h
V= 2.40 X 0.100 = 0.24 m3 0.2 m3
T
A= ( 1.000 X2+ 1.200 )
X 0.100 X 2 = 0.64 mw2 0.6 m2
(5) 2% FeE 2 5 H=30m

A= 2.200 X 0.500 X2 = 2.2 Hm2 2 Hm2




)1 S B

TRl - AR A = 0 =
1) a7 VU—Fk ock= 24 N/mm2
JEChR
Vi= 0.400 X 1.400 X 1.000 X2 = 1.12
EX R
V2= 0.400 X 2.100 X 1.000 X2 = 1.68
T AT
V3= 1/2 X ( 0.900 -+ 0.400 )
X 1.000 X 1.000 X2 = 1.30
&&t 4.10 m3
(7 U — FNER)
JEChR
>Vb = VI + V3 = 2.42 n3 2.4 m3
1R B
>Vs = V2 = 1.68 m3 1.7 m3
(2) B — R BRA - EARAEEY)
JEChR
Al= ( 1.000 4+ 1.400 ) X 0.400 X2
= 1.92
JES R v T
A2=  1.000 X 1.400 X 2 = 2.80
EX R
A3= ( 1.000 + 1.000 )X 2.100 X 2
= 8.40
A= 0.400 X 2.100 X 2 = 1.68
T AT
A5= 1/2 X ( 0.900 -+ 0.400 )
X 1.000 X 2 = 1.30
&5t 16.10 m2
(RIFENER)
JEChR
SAb = Al + A2 + A5 = 6.02 m2 6.0 m2
1R B
SAs = A3 + A4 = 10.08 m2| 10.1 m2




)1 S e

E IR T B =\ 0 =
(3) £k SD345
BmEER LY
DI3 W= 221.0 kg
( D13 221 kg ) 221 kg
DI6 W= 35.0 kg
DI9 W= —— kg
D22 W= ——— kg
D25 W= ——— kg
W= 35.0 kg
( D16~D25 35 kg ) 35 kg
D29 W= ——— kg
D32 W= —— kg
SW= 0.0 kg
( D29~D32 0 kg ) 0 kg
4) B ock= 18 N/mm2 Hi T2 t= 100 mm
N 1] —
=7 U M e
A= ( 0.600 + 0.500 )
X 1.000 X 2 2.20 m2 2.2 m2
ar7 J—h
V= 2.20 X 0.100 0.22 m3 0.2 m3
T
A= ( 1.000 X 2+ 0.600 + 0500 )
X 0.100 X 2 0.62 m2 0.6 m2
(5) 2% ek e H=30m
A= 2.100 X 0.500 X 2 2.1  $m2 2 Hm2
B R H=30m
A= 2.100 X 0.600 X 2 2.5  Hm2 3 Hm2




B

e THORAE R

I gt Kk HLAL B & o7 BEH
JIREBET |27 —F o ck=24N/mm2 m3 23. 0
R R el e 88.8

B D13 Kg 1186
D16~D25 607

D29~D32 0

PLa 7V — hmfE | o ck=18N/mm2 m2 28. 6
WlLarvr)—k m3 2.9
HlLar s )—k m2 2.6

25 Hhn2 PR |H=30m 4

$m2  |HEEY; [H=30m 20




I FRBBEY

IR

A

B
(1) =27 U—1b |ock=24N/mm2
JEEhR

Vi =1/2 X ( 0.775 + 0.681 )

X 0.400 X 3.000 = .87
V2 = 3.600 X 1.118 (fI=%)

X 0.400 X 3.000 = 4.83
V3 =1/2 X ( 3.025 + 3.119 )

X 0.400 X 3.000 = 3.69
V4 = 2.000 X 1.500 X 0.400 X2 = 2.40

EXEE

V5 = 1.300 X 0.775 X 0.400 X2 = 0.81
Ve = (1/2 X ( 1.300 + 3.100 ) X 3.600

—1/2 %X ( 0.165 + 0.642 ) X 1.376 )

X 0.400 X 2 = 5.89
V7 = ( 1.724 X 1.100 — 0.450

X 0.600 ) X 0.400 X 2 = 1.30
V8 =1/2 X ( 1.000 + 1.724 ) X 1.448

X 0.400 X 2 = 1.58
V9 = 1.000 X 0.077 X 0.400 X2 = 0.06
VIO = 1.000 X 0.400 X 2.000 X2 = 1.60

&5t 23.03 m3| 23.0 m3




I FRIBEY

E IR B N W =
(2) A — R B - A IEY)
JEEhR
Al =1/2 X( 0.775 + 0.681 )
X 0.400 X 2 = (.58
A2 = 3.600 X 1.118 (fI=)
X 0.400 X 2 = 3.922
A3 =1/2 X( 1.525 + 1.619 )
X 0.400 X 2 = 1.26
A = 2.000 X 0.400 X 2 = 1.60
A5 = 1.500 X 0.400 X 2 = 1.20
A6 = ( 0.400 + 1.000 ) X 7.000 = 9.80
A7 = 2.200 X 3.600 X 1.118 (=)= 8.85
X BRI T
A8 = 1.300 X 0.775 X 2X 2 = 4.03

A9 = (1/2 X ( 1.300 + 3.100 ) X 3.600
—1/2 %X ( 0.165 + 0.642 ) X 1.376 )

X 2 X 2 = 29.46
AlO= ( 1.724 X 1.100 — 0.450

X 0.600 ) X 2 X2 = 6.51
All=1/2% ( 1.724 + 1.000 )

X 1.448 X 2 X 2 = 7.89
Al2= 1.000 X 0.077 X 2 X2 = 0.31
Al3= 1.000 X 0.400 X 2 X 2 = 1.60
Ald= ( 2.400 + 2.000 ) X 1.000 X 2

= 8.80
Al5 = 0.400 X 1.376 X 1.058 (£l%)

X 2 = 1.16
Al6 = 0.400 X 1.448 X 1.118 (fI%)

X 2 = 1.30
Al7 = 0.400 X ( 0.450 X 2+ 0.600 )

X 2 = 1.20

&5t 88.77 m2| 88.8 m2




JI R BLBES

EIRE ] L N ¥ B
(3) &k SD345
BB EE LY
D13 W= 1186.0 kg
( D13 1186 kg ) 1186 kg
D16 W= —— kg
D19 W= —— kg
D22 W= 607.0 kg
D25 W= —— kg
YW= 607.0 kg
( D16~D25 607 kg ) 607 kg
D29 W= —— kg
D32 W= —— kg
W= 0.0 kg
( D29~D32 0 kg ) 0 ke
(4) L o ck=18N/mm2 i T2 t= 100 mm
A ] — .
=7 M wemg
A =3.200 X ( 0.681 + 3.600
X 1.118 (#=)+ 1.519 )
+ 7.200 X ( 0.700 —+ 0.500 )
— 98.56 m2| 28.6 m2
ar7J—h
V = 28.56 X 0.100 = 2.8 m3 2.9 m3
Rl Fp
A ={(0.681 -+ 3.600 X 1.118 (£I=)
+ 1.519 -+ 2.000 -+ 0.700
+ 0.500 ) X2+ 7.200 }
X 0. 100 = 2.60 m2 2.6 m2




JI R BLBES

EGIIRE T B N o B
(5) &% ek e 55 H=30m
Al =2.124 X 0.094 X 2 = 0.4
A2 =2.124 X 0.500 X 2 = 2.1
A3 =1/2 X ( 2.000 + 2.124 )
X 0. 248 X 2 = 1.0
&t 3.5 Hfm2 4 Hm2
BB e H=30m
Al =1/2 X ( 2.000 + 3.226 )
X 2.453 X 2 = 12.8
A2 =1/2 X ( 2.089 + 3.226 )
X 0. 476 X 2 = 2.5
A3 =1/2 X ( 2.089 + 2.124 )
X 0.071 X 2 = 0.3
A =1/2% ( 2.000 + 2.779 )
X 1. 558 = 3.7
A5 =1/2 X ( 2.000 + 2.779 )
X 0. 326 = 0.8

&t 20.1 Hm2| 20 #Hm2




JI R AE A AR SR

Tl A1 ik HAAL o= X 4 )| BB R aF T 2L
JEgEE T =2 ) — K o ck=24N/mm2 3 | 20.9 20.9
T m2 | AR | BkA - SRR 65. 2 65. 2
i SD345 D13 Kg 886 886
D16~D25 156 156
D29~D32 0 —
WLz s — FER] o ck=18N/mm2 t=100mm | m2 16. 6 16. 6
BjLm ) — k m3 1.7 1.7
Lo sy — b m2 2.1 2.1
i Hhn2 |45 1= 30m 19 19




J|| L BBEE

TRl - AR A N 0 =
(1) =227 U—b |ock=24N/mm2
JEChR
V1 = 4.300 X 0.400 X 2.400 = 4.13
V2 = 2.700 X 1.500 X 0.400 X2 = 3.24
EX R
V3 = 1/2 X ( 1.560 + 1.500 )
X 3.000 X 0.400 X 2 = 3.67
V4 = 1.500 X 0.150 X 0.400 X2 = 0.18
V5 = 0.418 X 0.300 X 0.400 = 0.05
V6 = 0.947 X 0.300 X 0.400 = 0.11
V7 = 1.700 X 0.450 X 0.400 X2 = 0.61
V8 = 1.700 X 0.400 X 3.100 X2 = 4.22
BB 2L
V9 =— 0.300 X 3.000 X 0.200 X 2= -0.36
T AT
VIo= 1/2 X ( 0.900 + 0.400)
X 1.000 X 7.800 = 5.07
&5t 20.92 m3| 20.9 m3




J 1| S B B

IR = N 0 &
(2) MU — TR BhAp - MRS EY)
JEEAR
Al = 2.800 X 0.400 X2 = 2.24
A2 = 2.700 X 0.400 X2 = 2.16
A3 = 1.500 X 0.400 X2 = 1.20
A = ( 0.400 + 1.000 ) X 7.800 = 10.92
BB R 7
A5 = 1/2 X ( 1.560 +1.500 )
X 3.000 X 4 = 18.36
A6 = 1.500 X 0.150 X4 = 0.90
A7 = 0.418 X 0.300 X2 = 0.25
A8 = 0.947 X 0.300 X2 = 0.57
A9 = 1.700 X 0.450 X 4 = 3.06
A1I0= 1.700 X ( 3.100 + 2.700 )
X 92 = 19.72
All = 1.700 X 0.400 X 4 = 2.72
EXEERR OB
A12=( 1.082 + 0.300 + 1.282 )
X 0. 400 = 1.07
A13= ( 0.553 + 0.300 + 0.753 )
X 0.400 = 0.64
B B PR
Al4= 0.300 X 0.200 X 2 = 0.12
J1v NA T
Al = 1/2 X ( 0.900 + 0.400 )
X 1.000 X 2 = 1.30
&t 65.23 m2| 65.2 m2




JI| L BRBEE

IR K &

(3) £k SD345
BEEE LY

DI3 W=  886.0 kg
( D13 886 kg ) 886 kg
DI6 W=  156.0 kg
DI9 W= ——— kg
D22 W= ——— kg
D25 W= ——— kg

XW= 156.0 kg

( D16~D25 156 kg ) 156 kg
D29 W= —— kg
D32 W= —— kg
SW= 0.0 kg
( D29~D32 0 kg ) 0 ke
4) B o ck=18N/mm2  HE TJ& t= 100 mm
N 1] —
=7 U M e
A = 2.600 X 2.700 + ( 0.700
+ 0.500 ) X 8.000 = 16.62 m2| 16.6 m2
ar7 J—h
V = 16.62 X 0.100 = 1.66 m3 1.7 m3
A
A ={ (2700 -+ 2.700 + 0.700
+ 0.500 ) X2+ 8.000 }
X 0.100 = 2.12 m2 2.1 m2
(5) 2% e H=30m

A = 3.100 X 3.100 X2 = 19.2 #m2| 19 #Hm2




R E TR

LV 3 (R L~L4 G L~UL5 (BRS) BT BEX 5y A 7 i 2
G T
7" VR AMNERR B3000 X 12000 t=300 #H|T-25 1
770 hR—/V 1L
7577 hik—)v H=500mm A 1
P B T
B FTHEBE T m2 (JIIFEHEE T 11.4
a7 J—k o ck=18N/mm2 m3 5.3
il e m2 [ 13.2

FEA RC-40 t=200mm m2 12.2




T EYEE T

L~L4 G 1 =y e
a1
7" VR AMNER R T-25/H  t=300mm B2000mm X L.3000mm
N = 1 = 1 W1 H#H
70 hR—/V T
7o had—u H=500mm
No=od = 1 o 1 M
BIGFIRE B T
A = 4.216 X 2.300
+ 0.745 X 2.300 = 11.41 m2| 11.4 m2
FeE RC-40  t=200mm
A = ( 0.100 + 4.794 ) X 2.500 = 12.24 m2| 12.2 m2
a7 J—h o ck=18N/mm2
V1 = 1/2 X 0.745 X 0.200 X 2.300 = 0.17
V2 = 1/2 X ( 4.216 4+ 4.794 )
X 0.527 X 2.300 = 5.46
V3 = — 1/2 X 0.376 X 0.200 X 2.000
X 4 = -0.30
V4 = — 1/2 X 0.338 X 0.180 X 2.000
X 1 = -0.06
A8 5.27 m3| 5.3  m3
il e — R
Al = 0.200 X 2.300 = 0.46
A2 = 1/2 X 0.745 X 0.200 X 2 = 0.15
A3 = 1/2 X ( 4.216 + 4.794 )
X 0.527 X 2 = 4.75
Ad = 2.087 X 0.150 X 2 = 0.63
A5 = 2.129 X 2.300 = 4.90
A6 = 0.200 X 2.000 X 4 = 1.60
A7 = 0.180 X 2.000 X 1 = 0.36
A8 = 1/2 X 0.376 X 0.200 X 4 2 = 0.30
A = 1/2 X 0.338 X 0.180 X 1 2 = 0.06
a5 13.21 m2| 13.2 m2




VT TR R

L1 3 (FE 1)) L~ 14 (RElR1) LoUL5 (BRS) AL BRI Sy Al i 2L
B+ T
KA D H=5m m3 63.7
MR L PEEE LFERIC m3 44.3
J R m2 19.2
a7 ) —h
Tuy T (aryzV— 7y s JEIE500mn 5 S 400mm m 24.0
a7 J—F o ck=18N/mm2 m3 4.3
e 7N m2 20. 2
TR RC-40 t=150mm m2 19.2
H Hkt t=10mm m2 0.5
ary7IU—hr7my 7k P&z 35cm m2 263. 3
ary7U—hr7ayZiE |#x35cm m2 263. 3
JEiA= 27 ) — K o ck=18N/mm2 m3 57.9
H Hpf JFEHE t=10mm m2 9.3
Kiugavy)—p A B
av 7 U—h o ck=18N/mm2 m3 0.6 0.5 1.1
T /N m2 5.9 1.6 7.5
Eh:i %) JEFHHEE t=10mm m2 0.2 0.1 0.3
NN IR=07 80 IE ME300mm & X 1000mm (FHiE) (k)
a7 J—F o ck=18N/mm2 m3 1.2 1.1 2.3
T /N m2 8.1 7.6 15. 7




E2+T

L4 GRBI) B 2V &
RIE Y H=5m
Vi = 0.730 /2 X2 = 2.63
V2 = 7.510 X 2 = 54.07
V3 = 1.950 /2 X2 = 7.02
A% 63.72 m3| 63.7 m3
B L HEEE LAERIC
V1 = 0.730 /2 X2 = 1.83
V2 = 7.510 X 2 = 37.55
V3 = 1.950 /2 X2 = 4.88
A3 44.26 m3| 44.3 m3
A IE
S VA VALY E =7 SR 1Y - N 19.2 m2




ayvyV—r7uavs L

L4 (BI)

arvyV—h7ay s il

a7 Y—h

[
=

ER:it7)

JEEPE500mm & X 400mm

11.700 + 0.300

10mY =LY

o ck=18N/mm2

RC-40 t=150mm

X 2

10.0

10.0

10.0

10.0

m

m3

m2

m2

m2

24.0 m

4.3 m3

20.2 m2

19.2 m2

0.5 m2




oy V—r7mvy s L

HEHEE | 2Ly Y —Fh 7y 7 EREQmY D)
500 //
IvIU—+ 350 150 . 7 \ o
— f N %
ock=18N/mm2 ‘ \/ B _
>
\ /D
150 500 150|\
EHRBa(RC-40)
800 t=15¢cm
L4 R =) = o &
a7 J—h o ck=18N/mm2
Vv = ( 0.400 x 0.500 — 1/2 X 0.150
X 0.300 ) X 10.000 = 1.78 m3 1.8 m3
TR /N
A =( 0.400 + 0.100 4+ 0.335 )
X 10. 000 = 8.35 m2 8.4 m2
FEREEA RC-40 t=150mm
A = 0.800 X 10.000 = 8.00 m2 8.0 m2
H Hupt t=10mm
A = 0.400 X 0.500 — 1/2 x 0.150
X 0.300 = 0.18 m2 0.2 m2




a7 ) —h7ay T

L4 (mB) H = T &=
a7 J—} 2 2 35cm
Ty 7k
Al = ( 4.259 + 4.216 X 2 + 4.174 X 2
+ 4025 ) / 2
x ( 7.250 4+ 2.150 + 11.700 ) = 264. 43
A2 = — 0.567 X 1.000 X 2 = -1.13
A3 263.30 m2| 263.3 m2
10m2Y V #HE LY
a7 Y—k 22 2 35¢cm
A=A
A = 263.30 X 10.0 / 10.0 = 263.30 m2| 263.3 m2
A= 27 U —k o ck=18N/mm2
V = 263.30 X 2.2 / 10.0 = 57.93 m3| 57.9 m3
H ik J#EHE  t=10mm
A =( 7.250 + 2.150 + 11.700 ) / 10
X ( 4.259 + 4.216 X 2 + 4.174 X 2
+ 4025 ) / 2 X 0.35 = 9.25 m2 9.3 m2




oy V—r7mvy s L

HEHEE | ar s Y—F7ry ZEQmYY)

avyy—+Jovis R 3553~3760

#x235¢cm —“
v+54.95 n
e —

R

i [
V+52. 95~+53.06
A

1890~2000

T
- ~
~
~
- — -
P
L4 Gl C o L
a7 J—h 8 2 35¢cm
A=A
A = 10.00 m2 10.0 m2
A=z 27 U — K o ck=18N/mm2
vV = 2.20 m3 2.2 m3




a7 ) —h7ay T

L4 GGRBI) H =X T &=

K7 U — bAl KEEIE164mm 15 & 309mm

L = 7.250 + 1.150 + 10.700 = 19.10 m

om4 0 #HEELD

a7 y—rhk o ck=18N/mm2

VvV = 19.10 X 0.3 /  10.0 = 0.57 m3 0.6 m3
Hll e IR

A = 19.10 X 3.1 /  10.0 = 5.92 m2 5.9 m2
H ikt t=10mm

A= 19.10 X 0.1 / 10.0 = 0.19 m2 0.2 m2




oy V—r7mvy s L

HEHEE | K=o 7Y — FA(Lom4 V)
IV Y—F 164
gok=18N/mm2
N\~ 1T
N
\.‘\.% E
-
- . P
= -
~
-
—
—~
~
-
-~
L4 GGRBI) = = =
a7 J—} o ck=18N/mm2
Vv = 0.164 X 0.309 / 2 X 10.000 = 0.25 m3 0.3 m3
Tl e IR
A = 0.309 X 10.000 = 3.09 m2 3.1 m2
B #ist t=10mm
A = 0.164 X 0.309 / 2 = 0.03 m2 0.1 m2




a7 ) —h7ay T

L4 GGRBI) H =X T &=

Ko7 U — bBl  KEGIE265mm 15 & 450mm

L = 3.000 + 1.000 X 2 = 5.00 m

om4 0 #HEELD

a7 y—rhk o ck=18N/mm2

Vv = 5.00 X 1.0 /  10.0 = 0.50 m3 0.5 m3
Tl P IR

A = 5.00 X 3.1 /  10.0 = 1.55 m2 1.6 m2
H ikt t=10mm

A = 5.00 X 0.1 / 10.0 = 0.05 m2 0.1 m2




oy V—r7mvy s L

NEHEE | K= 7 ) — FB(10m% 0)
265
101, 164
‘ avsy—+
\ gek=18N/mm2
\*/\ /
_____ X/ -
% -
A 0% B
|
| | \
| | \
| | |
L~L4 R = 2V o &
a7 J—h o ck=18N/mm2
v = { 0.164 x 0.309 / 2
+ ( 0.114 + 0.300 ) /2 X 0.350 }
X 10. 000 = 0.98 m3 1.0 m3
Tl e s
A = 0.309 X 10.000 = 3.09 m2 3.1 m2
B #iAf t=10mm
A = 0.164 X 0.309 / 2
+ ( 0.114 + 0.300 ) /2 X 0.350
= 0.10 m2 0.1 m2




a7 ) —h7ay T

L4 (BI) ) =X T &=
VN ERIE= /A I N TE300mm & X 1000mm
CF o)
a7 Y—k o ck=18N/mm2
v = { 0.100 X 1.227 / 2 4+ 4.259 X 0.350
+ ( 4.259 + 2.885 ) / 2 X 0.650
—+ 0.164 X 0.309 /2 } X 0.300 = 1.17 m3 1.2 m3
Hll e IR
Al = { 0.100 X 1.227 / 2 4+ 4.259 X 0.350
+ ( 4.259 + 2.885 ) / 2 X 0.650
+ 0.164 X 0.309 /2 } X2 = 7.80
A2 = 1.045 X 0.300 = 0.31
&3 811 m2 8.1 m2
VN ERIE= /A I N TE300mm & X 1000mm
(L wiefan
a7 Y—k o ck=18N/mm2
v = { 0.100 X 1.227 / 2 + 4.025 X 0.350
+ ( 4.025 + 2.651 ) / 2 X 0.650
—+ 0.164 X 0.309 /2 } X 0.300 = 1.10 m3 1.1 m3
Hll e IR
Al = { 0.100 X 1.227 / 2 4+ 4.025 X 0.350
+ ( 4.025 + 2.651 ) / 2 X 0.650
+ 0.164 X 0.309 /2 } X2 = 7.33
A2 = 1.045 X 0.300 = 0.31
&3 764 m2 7.6 m2




BEAR KIS THCRAREHR

1/2
L1 3 (FERI) L1 4 (R L UL (Bik) LT HBEX 5y A 7 i
B+ T
RV H=5m m3 143.5 o 3 9
WEL W FERID m3 36. 1 N
KT [ L4 E K] m 8.5
17" ny) 2 % 350 m2 37.4
A= 27 U-F o ck=18N/mm2 m3 8.2
A RC-40 t=20cm m3 7.5
Eh:il t=10mm 2.9
a7 U —h & % 35cm m2 1.9
a7 U-F o ck=18N/mm2 m3 0.7
A RC-40 t=20cm m3 0.4
2/))-p7 ey (PERE) FERE |B500 + H400 m 29. 4
Kigay ) —h o ck=18N/mm2 m3 0.6
LRy ) - GEER) t=20cm m2 13.6
a7 U-F o ck=18N/mm2 m3 2.7
s RC-40 t=20cm m2 13. 6
H Hipt BEHEE t=10mm m2 3.7
SEagEay ) - (Ki) t=20cm m2 12. 1
a7 U-F o ck=18N/mm2 m3 2.4
s RC-40 t=20cm m2 11.5
H bt TEEHRAEE t=10mm m2 4.3




BEAR KIS THCRAREHR

2/2
L~UL3 (FERI) L ~UL4 (R L ~UL5 () BT BB X5y & it i 2

J1d< v b t=30cm « W BG4 H m2 63.7

1EBE A (Kik) m 25.6

a7 U-F o ck=18N/mm2 m3 3.1

galy N m2 30. 7

H Hipt TE R HEE t=10mm m2 0.3

IEEEB (/) m 1.8

a7 U-F o ck=18N/mm2 m3 0.2

galy N m2 2.4

7K T [ HKE-1EIH] m 12.0
7° VR A U BRI m 12.0

77 VR A U BRI E B300 X H300 X 1.4000 & 3.0

FEA RC-40 t=15cm m2 6.3




bESN KIS T SEEf

L~L4 (1) T X B &
EELT
PRHE 0
H=5m V=7.90X17.5+1/2X0.60X17.5 143. 50 143.50 m3
MR L
MU UFERID V=7.90X4. 4+1/2X0. 60X 4. 4 36. 08 36.08 m3
(@5 8KER]
K RIE R L= (8.35+8.66)/2 8.51 8.51 m
By 7
P& % 35¢cm Al= (8.35+7.53) /2% 1. 80 14. 29
A2= (8.65+7.95) /2% 1. 80 14. 94
A3=1.17X1.01+1. 17X6. 02 8.23
At 37.46 m2 37.46 m2
fiiA= 7 ) — b
o ck=18N/mm2 V= 37.46X0. 22 8.24 8.24 m3
HAA
RC-40 t=20cm V= 37.46X0. 2 7.49 7.49 m3
H Hikf
t=10mm Al=1.80X0.35X2 1.26
A2=1.17X0. 35 x4 1. 64
et 2.90 m2 2.90 m2
FEar s U—h
P& % 35¢cm Al=1.17X1.60/2 0. 94
A2= 1.17X1.55/2 0.91
A= et 1.85 m2 1.85 m2
V=1.85X0. 35 0.65 0.65 m3
HAA
RC-40 t=20cm V=1.85X0. 2 0.37 0.37 m3
7 ny) (VAR T
L1= 8. 35+8. 66 17.01
L2= 1. 01+1. 60+2. 22+1. 55+6. 02 12. 40
At 29.41 m 29.41 m
[1:X]
/)=t o ck=18N/mm2 V=29.41X1.70/10 5. 00 5.00 m3
LRy N i A= 29.41X8.61/10 25. 32 25.32 m2
FLBFEAT RC-40 t=15cm| A= 29.41X8/10 23.93 23.53  m2
H A JEHE t=10mm| A=5.0/10 0.50 0.50 m2




bESN KIS T SEEf

L4 () T ¥ &
FRuEVVLEIN(®) L= (1.01+7. 53+6. 02+7. 95) = 22.51 m
[1:X]
a/9)=b o ck=18N/mm2 V= (1. 01+7. 53+6. 02+7. 95) X 0. 28/10 = 0.63 0.63 m3
Hpe N A= (1.01+7.53+6. 02+7. 95) X 2.91/10 = 6. 55 6.55 m2
H ikt  t=10mm A= (1.01+7.53+6. 02+7. 95) X 0. 03/10 = 0.07 0.07 m2
Woagas ) - GER) A= (8.35+8.66) /2% 1.6 = 13.61 13.61 m2
[15X] L= (8. 35+8.66) /2 = 8.51 )
a/7)=F o ck=18N/mm2 V=13.61X0.2 = 2.72 2.72 m3
JERERA RC-40 t=20cm| A= (8. 35+8.66) /2% 16.00/10 = 13.61 13.61 m2
HHftibt WHE  t=10mm| A= (8.35+8.66)/2X4.32/10 = 3.67 3.67 m2
gy = CR ) A= ((6.61+7.53) /2+(6. 02+7. 95+5. 21+7.09) /2) X0.€ =  12.12 12.12 m2
[1:X] L= (6. 61+7.53) /2+(6. 02+7. 95+5. 21+7. 09) /2 = 20.21 )
a/7)=b o ck=18N/mm2 V=12.12X0.2 = 2.42 2.42 m3
HL e RC-40 t=20cm A= ((6.61+7.53) /2+(6. 02+7. 95+5. 21+7. 09) /2) X0.F =  11.52 11.52 m2
H b4 Ve ke t=10mm| A= 20.21X2.12/10 = 4,28 4.28 m2
B2~y b t=30cm 63.68 m2
(A) A= (5.68+6.38)/2X5 = 30.15
(B) A= (6. 88+6.53)/2X5 = 33.53
63.68 m2
EEEA(DNZ = MEB) L= (6.61+7.09+5. 21+6. 71) =  25.62 25.62 m
[1:X]
a/9)=b o ck=18N/mm2 V=25.62X1.20/10 = 3.07 3.07 m3
e /N A= 25.62X%12.00/10 = 30.74 30.74 m2
H b4 JEF ik t=10mm| A= 25.62X%0.12/10 = 0.31 0.31 m2
1EBEB (11358 A 0) L= (1.17+0.61) = 1.78 1.78 m
[1:X]
a/9)=b o ck=18N/mm2 V=1.78X1.20/10 = 0.21 0.21 m3
e /N A=1.17X0.241.78X0.6X2 = 2.37 2.37 m2
[FKERIEIE]
KR IE R L= 4.00X3 = 12.00 12.00 m
[1:X]
L v A FUBRMEIRE B300 <X H300 X L4000 = 3.00 3.00 {#
LA RC-40 t=15cm| A= 0. 70X (12.00-3. 00) = 6. 30 6.30 m2
(V/10m) V=6.3X0.15/12. 00X 10. 00 = 0.79

(m3/10m)




%
i
T
+
il
il

300 200
avhy—4
ock=18N/mm2 o;,/
\ / -
ERBE (RC-40)
150 500 150 1sen
800
10m34Y
4 Fr #i & B Y AL =
a7 U—hK | ock=18N/mm2 ((0.30+0. 50) /2%0. 30+0. 50%0. 10) *10 m3 1.70
FIL R o INRY (0. 40+0. 10+0. 361) *10 m2 8.61
B #1 % 23444} t=10mm 1. 70/10 m2 0.17
A RC-40 t=15cm 0. 80%10 m2 8. 00




Kimtri T BEGHEE

200

5000

1000

iy ] 200 596 10194 EHEEIQ 21U -}
" ook=18N/nm2 g # ock=18N/mn2
- a2 )—F
g ogok=18N/mm2
ook=18N/mm2
/ g / 5 TELELY
TVaves 09004
S »
ERBE(RC-40)
t=20cm 533
4 Fr #i & B
K27 U— b5 o ck=18N/mm2 | (0. 194%0. 291) /210 m3 0.28
L SN 0.291%10 m2 2.91
B # #F 7284} t=10mm|0. 28/10 m2 0.03
KT 27 V=1 g ck=18N/mm2 0. 596%0. 20%10 m3 1.19
B # #F 7284} t=10mm|0. 20%10+1. 19/10 m2 2.12
A RC-40 t=20cm| (0. 606+0. 533) /2%10 m2 5. 70
IkBE= 7 ) — 1 o ck=18N/mm2 0. 2%0. 6%10 m3 1. 20
FIL R o INRY (0. 6+0. 6)*10 m2 12. 00
B # #F 7284} t=10mm|1. 20/10 m2 0.12




K< hTA HEHEE

5000 1000

|
PO PO O XXX
|>/\/\/\/¢>< XA AOX

ATy bA(t=30cm) 7

hEHER S~15cm

BNH LS

10m34Y
4 Fr #i & B Y B B =
B a=y b t=30cm 5. 0%10 m2 50. 00

W LB LA 5. 0%10+0. 3%¥10 m2 53.00




K< T B ¥EiExE

200 5000 1000

PO OO NORCHOROK
>\/\/\/\/\?\V YRR AAK

vy FB(t=30cm)
hENHER H~15¢cnm

WLV LR #

10m34Y
4 Fr #i & B Y B B =
B a=y b t=30cm 5. 0%10 m2 50. 00

W LB LA 5. 0%10 m2 50. 00




PR 2U—F Ak lkat

H i #
S o
/ | <
/ | S \ B E Z‘
S A =2
U0 00 \_ F#avsy—+ ‘
ock=18N/mm2
EBBRE (RC-40)
t=20cm
10m34Y
4 Fr #i & B Y B B =
Wik 7 U — k| g ck=18N/mm2 | 1. 6%0. 20%10. 0 m3 3.20
A RC-40 t=20cm|1. 6%10.0 m2 16. 00
B # #F 7284} t=10mm|3. 20/10+0. 20%10%2 m2 4.32




BEPN K I THCRREER

L~UL3 (FERI) L4 (A1) L5 () BT BB X5y & it i 2
KT [EENELE /K]
UK % B1400~1600 X H1000 m 4.0
a7 Y—} o ck=24N/mm2 m3 3.8
il e — AR P m2 35.5
FEA RC-40 t=20cm m2 9.2
B Hisf t=10mm m2 1.0
S SD345 D13 kg 86
A 2% 20cm m2 4.2
fiiA=z> 27 ) — k o ck=18N/mm2 m3 0.3
/)Y - FEdE o ck=18N/mm2 m3 0.1




BN T

L~L4 G 1 =y ¥ B
UK % B1400~1600 X H1000
L = 4.00 m 4.0
a7 Y—} o ck=24N/mm2
V =1{ 2.100 X 1.200 -
( 1.400 + 1.800 ) / 2 X 1.000
+ 2.300 X 1.200 -
( 1.600 + 2.000 ) / 2 X 1.000 }
/ 2 X 4.000 = 3.76 m3 3.8 m3
T e — R R
A ( 1.200 + 1.020 ) X 4
X 4. 000 = 35.52 m2| 35.5 m2
FpEfea RC-40 t=20cm
A= ( 2.200 + 2400 ) /2
X 4.000 = 9.20 m2 9.2 m2
B ikt +=10mm
A = 2.300 X 1.200
- ( 1.600 + 2.000 ) / 2 x 1.000
= 0.96 m2 1.0 m2
ERT SD345
AR TN g mERL b
DI3 W = 214 / 10 X 4.000 = 85.6 kg 86 kg
A A &% 20cm
A = 1.044 X 4.000 = 4.18 m2 4.2 m2
A=Y 2 ) — o ck=18N/mm2
V = 4.18 X 0.200 / 3 = 0.28 m3 0.3 m3
a/))-MEIE o ck=18N/mm2
V = 0.03 X 4.000 = 0.12 m3 0.1 m3




s THE LR R

L1 3 (FE ) L~ 4 GRERI) L ~UL5 (BL#S) Hifr BEX Sy G S
sy EE L T
V)Y - M IEY) B m3 |k EY) | -bm=H="5m 0.6
m3 | AL EY) | -bm=H=5m 12.0
EfTERRE L T AT 7L MR m2 |t=5cm 38. 0
AFEREE L 7SRl YE45emATi m3 2.3
PR E L T
BERR K IR m 27.6
WERR 7K R AR BE S i m 1.4
RS ES B300 X H300 m 12.0
BERR I IR = B1000 X H1000 m 4.5
TR AL T
e AL B B U — bk m3 5.1
W7 ) — ik m3 44. 9
A m3 2.3 (Vi)
T AT 7))V Mk m3 1.9




HIH TE R R
L~V 3 (R L1 4 (B) L~UL5 (%) BT Xy A & OB
HiRT
A BEREATE H 1m<H<2m
a7 J—Fh o ck=18N/mm2 m3 9.
e — R m2 32.
B H#kfr t=10mm m2 2.
B PERERTE IR 1m<H<2m
a7 )—h o ck=18N/mm2 m3 0.
B — R m2 3.
B (B EEs)  |RC-40  t=200mm m2 38.
K B ARIEE SR 1R m 1
a7 )—h o ck=18N/mm2 m3 0.
Tl e — R R m2 2.
oA £ % 20cm m2 1.
fiiA=a 27 ) — b o ck=18N/mm2 m3 0.




R UL T

L~UL4 (R A =V e
W) -MEE ISR | SpAESEY) -Sm=H=b5n
22—
Vv = ( 0.70 + 0.63 ) /2 X 0.2
X 4.69 = 0.62 m3] 0.6 m3
WHHEEY)  -Sm=H=b5m
B 7 CBEREA
Vv = ( 0.30 + 0.92 ) /2 X 1.76
X ( 6.93 4+ 2.70 ) = 10.34
& AR
v = { ( 030 4+ 070 ) /2 X 1.34
+ 0.50 X 1.40 — 0.30 X 0.30 }
X 1.30 = 1.66
&t 12.00 m3| 12.0 m3
EAERR EUE L T AT 7V MEEERR t=5em
A = 31.6 4+ 6.4 = 38.00 m2| 38.0 m2
AREREE L 7efE PEAbemAT
Vi = 0.20 X 2.36 = 0.47
v2 = ( 0.20 4+ 0.10 ) /2 X 5.22 = 0.78
v3 = ( 0.10 + 0.10 ) /2 X 502 = 0.50
V4 = 0.10 X 3.49 = 0.35
V5 = 0.10 X 2.26 = 0.23
&5 2.33 m3| 2.3 m3




PR EYE T

L~L4 G B 2V P
RER% K B
L1 = 3.19
L2 = 5.01
L3 = 3.31
L4 = 2.36
L5 = 5.22
16 = 2561 + 2.51 = 5.02
L7 = 1.71 + 1.78 = 3.49
GEil 27.60 m| 27.6
Vi = 1.20 X 3.19 = 3.83
v2 = ( 1.20 4+ 1.10 ) /2 X 501 = 5.76
V3 = 1.10 X 3.31 = 3.64
V4 = 1.10 X 2.36 = 2.60
V6 = ( 1.10 + 0.90 ) /2 X 522 = 522
Ve = ( 0.90 + 1.00 ) /2 X 502 = 4.77
V7 = 1.00 X 3.49 = 3.49
GEil 29.31 m3
BERR K B AR B S 4 25
L = 1.41 m| 1.4
V = 0.30 x 1.41 = 0.42 m3
HIK L B300 X H300
L = 400 X 3 = 12.00 m| 12.0
Vv = ( 0.70 X 0.50
— 0.30 X 0.30 ) X 12.00 = 3.12 m3
BERX B IRt & B1000 X H1000
L = 4.45 m| 4.5
V = 1.00 X 4.45 = 4.45 m3




SR AL T

L~UL4 (R A =V e
T T A LR Bipa v U — ik
N LEYZAR PERR IR
vV = = 4.45
22—
vV = = 0.62
&5 5.07 m3| 5.1
Mo 7 ) — Mk
AT — ] BERBEK IS E
vV = = 29.31
PR K AR B s Fi 2
vV = = 0.42
REVINTS S
vV = = 3.12
EaFaw: i)
vV = = 10.34
& AR
vV = = 1.66
&5t 44.85 m3| 44.9
R LB Yyl
AREEE L
Vi = 0.20 X 2.36 = 0.47
v2 = ( 0.20 + 0.10 ) /2 X 5.22 = 0.78
v3 = ( 0.10 + 0.10 ) /2 X 502 = 0.50
V4 = 0.10 X 3.49 = 0.35
V5 = 0.10 X 2.26 = 0.23
&5 2.33 m3| 2.3
T AT 7 Iv hik
T AT 7V N EHEERR
V = 38.00 X 0.05 = 1.90 m3| 1.9




I

L4 (A1) B =y % =
) BEREATE [H 1m<H<2m
a7 J—k o ck=18N/mm2
Vv = ( 03 + 092 ) /2 X 1.76
X ( 4.40  + 4.42 ) = 9.47 m3| 9.5 m3
Ay — iR
A= ( 1.87 + 1.76 )
X ( 4.40  + 4.42 ) = 32.02 m2| 32.0 m2
B ks t=10mm
A= ( 030 4+ 092 ) /2 x 1.76
X 2 = 2.15 m2| 2.2 m2
A BERERTE IH Im<H<2m
a7 J—F o ck=18N/mm2
Vv =+f{ ( 03 + 070 ) /2 xX 1.34
X 1.30 = 0.87 m3] 0.9 m3
T P — iR P
A=( 1.34 + 1.34 X 1.044 )
X 1.30 ) = 3.56 m2| 3.6 m2
e (BlEEREED) RC-40 t=200mm
A =( 3.6 + 6.4 ) = 38.00 m2| 38.0 m2
JK AR BEERAE 1H L = 1.41 m| 1.4 m
a7 J—F o ck=18N/mm2
i = 0.42 m3] 0.4 m3
Tl e — iR
A=( 1.00 + 1.05 ) x 1.41 = 289 m2| 2.9 m2
TR P22 20cm
A= 070 X 2.26 = 1.58 m2 1.6 m2
A= 2 U — k o ck=18N/mm2
V = 1.58 X 0.200 / 3 = 0.11 m3 0.1 m3




EtE
L UL 3 (FaR1) L~14 GRR) L~UL5 (BLRS) AL X5y & 7 g B
I RE T
B TERK RC-40 t=10cm m2 |B=2. Om 172.4 | L= 86.2m
FERAR 3.0mX 1. 5m m2 |fitFH150 H 9.0 [ L= 3.0m
T8 - ki o) T
KA+ H BRI ES W8GR 4
ROK & T
M IR HE K $ 500  ERE m 12.0
e YIS m 29.0
PRI HE 1 m3 74
HELC R EME InLL F4maid m3 74
VESEY-1 i 1T
Y — Rk N m2 230




% T

L~L4 G 1 =y e
% E T
B TSR RC-40 t=100mm B=2. Om
L 86. 20
A = 86.20 X 2.00 = 172.40 m2| 172.4 m2
F Bk 3.0mX1.5m [f£H150H ]
A= 3.00 X 1.50 X2 # 9.00 m2| 9.0 m2
8 - kB T
KEI+D H RE-E D
N 4 % 4 g
K T
IR HE KA ¢ 500
L 12.00 m| 12.0 m
SEHRRIE L 29.00 m| 29.0 m
RISETHERS
H= 4.1 m2 / 29.70 m .38 m
PRI HE 1
V = 2.5 X 29.70 74.25 m3| 74.3 m3
HWELC i KM R 1m LA _EAmaATi
V = #EEl kY 74.25 m3| 74.3 m3
VESEY-N 34 T
Y— NI A = 230. 00 RE T LY 230.0 m2




.60 mX1.00 m XT L AU A T Ty T A — |

E2xn Gl Wr if B H{iEE HE BEE ME AL 78w
BE K
(= #)
2%v7" v=b  PL 1660 X 9 1170 71.37 1 138.6 SUS304 3. 88
HEHT H 100X 100X 6X 8 1064  17.1 2 36.4 SUS304 0.85
a7 [ 100 X 50X 6 1150 9. 02 2 20.7 SUS304 0. 69
AT I 100 X 50X 6 1490 9. 02 1 13.4 SUS304 0.45
ML B[ 100X 50 X 6 1478 9.40 1 13.9 SUS304 0. 44
T EBHT B[ 100 X 50X 6 1490 9. 40 1 14.0 SUS304 0.45
FEAR FB 32 X 9 150 2.28 4 1.4 SUS304 0. 04
LERHT) 7T FB 38 X 6 88 1.81 2 0.3 SUS304 0.01
HHREIATL) 7T FB 38 X 6 88 1.81 2 0.3 SUS304 0.01
TEMT)7T FB 38 X 6 88 1.81 2 0.3 SUS304 0.01
&t 239.3 kg 6. 83
m
(FIFE4)
1A FB 50 X 9 1506 3.57 2 10.8 SUS304
1A FB 50 X 9 1010 3.57 2 7.2 SUS304
Ju—=pn" Vb PL 75 X 3 681  23.79 2 2.4 SUS304
Jn-MEEM  PL 75 X 19 75 150.7 4 3.4 SUS304
&t 23.8 kg




1.60 mX1.00 m NS A A FRT7F v HF— K

2 gl T EX HEE e HE M [ T B
(FE A )
B, N M10 40 0.047 28 1.3 SUS304
B, N M10 50 0.054 24 1.3 SUS304
<}9IB, N, RW M16 45 0.117 4 0.5 SUS304
AN 50 25A - - SUS304
waNZa M10 - 52 - SUS304
waNZa M16 - 4 - SUS304
it 3.1 kg
(Bl g B o)
Ju—} 350 X 160 X 1200 14.0 1 14.0 yVhv (SUSHN =)
KET L PR $ 40X 90 X 10 5560 2.52 1 14.0 %47 Vv
=t 28.0 |kg
IINEF 294.2 kg 6.83




1.60 mX1.00 m NS A A FRT7F v HF— K

E2xn Fe 1| Wr if B H{iEE HE BEE ME AL 78w
INT o AELE
(EL#ER )
prfb7-h  PL 0.263 nf 12 95.16 2 50.1 SUS304 1. 05
F iy RB ¢ 120 1140 89.69 1 102.2 SUS304 0. 37
FEREVIAL  RB ¢ 190 835 224.8 1 187.7 SUS304 0. 56
FHE&yz/b  PL $190 - 31 9  71.37 6 11.8 SUS304 0.33
vxA & E i RB ¢ 30 130 5.61 2 1.5 SUS304 0. 02
Apyn = RB $50 - 31 30 9.59 2 0.6 SUS304
B PL 80 X 12 70 95.16 1 0.5 SUS304 0.01
Gl 354.4 kg 2. 34
m
(A )
B, RW, SW M16 65 0.157 4 0.6 SUS304
A AR IR R M10 10 - - SUS304
CHY IF iy ¢ 90 (i 1) - 2 - SWRH
=t 0.6 kg
/NEE 355.0 kg 2. 34




.60 mX1.00 m XT L AU A T Ty T A — |

AN gl VT 1 EX B EE KE EE M [ T B
eV
(FHB4)
EHAY 0 150 X 75X 6 1920 13.9 1 26.7 SUS304 0.43
ST 150 X 75X 6 1000 13.9 2 27.8 SUS304 0.45
TEHFY [ 150 X 75X 6 1920 13.9 1 26.7 SUS304 0.43
Hil5zA -2 PL 180 X 16 310 126.9 2 14. 2 SUS304 0.11
Hil5zA -2 PL 150 X 16 180 126.9 2 6.9 SUS304 0.05
Hil5zA -2 PL 150 X 16 378  126.9 2 14. 4 SUS304 0.23
Hil5zA -2 PL 50 X 16 300 126.9 2 3.8 SUS304
RN SN 122 130 3. 84 2 1.0 SUS304 0.01
3t 121.5 kg 1.71
m
(B A4)
7 H- FB 38 X 6 138 1.81 12 3.0 SUS304
=t 3.0 kg
(&)
B M20 170 0. 480 4 1.9 SUS304
=N M20 50 0.136 4 0.5 SUS304
=t 2.4 kg
IINEF 126.9 kg 1.71
m




.60 mX1.00 m XT L AU A T Ty T A — |

E2xn Gl Wr if B H{iEE HE BEE ME AL 78w
B PA %S
D) #7747 b
(EL#ER )
77779 b PL 160 X 22 200 174.5 2 11.2 SUS304 0.13
77779 b PL 180 X 22 345  174.5 2 21.7 SUS304 0.25
)7° FB 32 X 9 165 2.28 2 0.8 SUS304 0. 02
K A RB $220 - ¢ 160 100 142 2 28.4 SUS304 0.21
h7- Pipe  ¢165.2 X Sch40 32 27.70 2 1.8 STPG370
/b N = PL ¢ 215 12 95.16 2 6.9 SUS304
Gl 70.8 kg 0.61
nf
(A )
B, SW M12 30 0.047 12 0.6 SUS304
B, RW, SW M20 70 0.277 4 1.1 SUS304
B, N, RW, SW M20 70 0.342 4 1.4 SUS304
B ¢ 901 3.5 2 7.0 R
HAWy—= UE—100X 125X 13 - 2 - iR S
y=b1" Ay b $ 215X ¢ 165X2 - 2 - WA
N7 70 PT1/4 - 4 - SUS304
=t 10.1 |kg
N 80.9 kg 0.61




1.60 mX1.00 m NS A A FRT7F v HF— K

2 gl VT 1 EX HEE e HE M [ T B
HERFE BAE
1) Fx=— 28T
(BB R
Fr—v#F PL 80 X 12 60  95.16 1 0.5 SUS304 0.01
INE FB 125 X 12 230 11.90 1 2.7 SUS304 0.06
3t 3.2 kg 0.07
m
(&)
OEFTIA A AT/ - M12 100 0.101 2 0.2 SUS304
VAR 0. 25ton 2.0 1 2.0 TR,
=t 2.2 kg
INEF 5.4 kg 0.07
m
194y &3 862.4 kg 11.56




1.60 mX1.00 m NS A A FRT7F v HF— K

E2xn Fe 1| Wr if B H{iEE HE BEE ME AL
TS
(EL#ER )
RAR CPL 800 X 4.5 2320 37.04 1 68.7 MEFIFK  Zniyk
RAR CPL 610 X 4.5 860  37.04 2 38.9 MEFIKK  Zniyk
AR CPL 550 X 4.5 860  37.04 2 35.0 MERIKK  Znivk
Hr H 100X 100X 6X 8 2070 16.9 2 70.0 SS400 Inpy¥
#r [ 100X 50X 5 2070 9. 36 1 19.4 SS400 Inpy¥
#r [ 100X 50X 5 840 9. 36 2 15.7 SS400 Inpy¥
#r [ 100X 50X 5 392 9. 36 3 11.0 SS400 Inpy¥
#r [ 100X 50X 5 337 9. 36 3 9.5 SS400 Inpy¥
Hr FB 65 X 6 645 3.06 8 15.8 SS400 Inpy¥
Hr FB 65 X 6 508 3.06 8 12.4 SS400 Inpy¥
i ES RB ¢ 16 380 1. 58 8 4.8 SUS304
BF Pipe 20A X Sch 40 20 1.76 16 .1 SUS304TP
) L 75X 75 X9 770 9. 96 2 15.3 SS400 Inpy¥
) L 75X 75 X9 2150 9. 96 1 21.4 $S400 Inpy¥
2t 338.0 kg
(A )
A J/B,N, RY, W, (W M16 45 0.188 4 0.8 SUS304
A BB, N, RW, SW, W M12 40 0.096 6 0.6 SUS304
A A JYB, N, RW, SW M12 35 0.075 8 0.6 SUS304
B, N, RW, SW, [W M12 40 0.096 6 0.6 SUS304
B, N, RW, SW M12 35 0.075 8 0.6 SUS304
B, N, RW, SW M12 40 0.080 12 1.0 SUS304
IERITIART V- MI2 100 0.101 9 0.9 SUS304
=t 5.1 kg
JINEF 343.1 kg




1.60 mX1.00 m NS A A FRT7F v HF— K

E2xn Fe 1| Wr if B H{iEE HE BEE ME AL

ATV —

(EL#ER )
A= FB 65 X 6 850 3.06 14 36.4 SS400 Zniy¥k
pAuy ) RB ¢ 19 946 2.23 6 12.7 |SUS304
AN =i Pipe 20A 144 1.68 36 8.7 SUS304TP
7 7y b FB 65 X 6 144 3.06 8 3.5 SS400 Zniy¥k
2aW I 100 X50X5/7.5 2420 9.36 2 45.3 SS400 Inpy¥

Gl 106.6 kg

(A )
N M18 0.051 12 0.6 SUS304
B, N, RW, SW M12 40 0.080 8 0.6 SUS304
IERITIARKT V- M16 120 0.208 4 0.8 SUS304

it 2.0 kg

At 108.6 kg




FERI - A B = 0 =
—Rav)—=p o ck=24 N/mm2
Vi= 0.300 X 1.700 X 2.200 = 1.12
FEfR
A V2= 0.300 X 1.000 X 1.600 = -0.48
&t 0.64 m3 0.6 m3
a2y =} — R
TRl e
Al= 1.700 X 2.200 = 3.74
A2= 0.300 X 1.600 = (.48
A3=0.300 X 1.000 X 2 = 0.60
FEfR
A A= 1.000 X 1.600 = -1.60
&t 3.22 m2 3.2 m2
kA =} N AT R =R T H<4m  40kN/m2LLF
R V= 0.300 X 1.000 X 1.600 = 0.48 Z2m3
&t 0.48 2Z2p3 1 Z%m3
FEHALEE T For s
JEEAR
Al=  0.300 X 2.200 = 0.66
i)
A2= 0.300 X 1.700 X 2 = 1.02
R
A3= 1.700 X 2.200 = 3.74
P
A A= 1.000 X 1.600 = -1.60
GEt 3.82 m2 3.8 m2




F - ]

%

5
7= SD345
D16 L=200mm
N= = 36 /N 36 VN
P EE
W= 0.200 mX 36 A& X 1.560 kg/m = 11.3 kg| 11 kg
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L—
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+51.900

+50.900

+50.500

+49.500

HLavsy—+

ik R
B=200mm

B
t=20mm

+52.1700

+52.300

£k R

B=200mm

B #

t=20mm

AV - FORHEERE

Akavsy—+

gck=24N/mm2

HLavs -+

ock=18N/nm2




1vH - tORHEEHE

Akavs -+ o ck=24N/mm2

HLavs -+ agck=18N/mm2




PAZ AT SN
T-25@ t=300mm

150300 450

JLEr 2 MKK

T-25@ t=300mm | |

+54.700

Ahavyy—+

T-25 t=300mm

150300 450

JLEr 2 LRI

+54.700

+hd DA

+54.260

+53.000

+52.600 /I

+54 560

+54.260

+53.000

+52.600 /]

kiR
B=200mm

Bit#
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it KR
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